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veesš : meYeer heeBÛe ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ FkeâeF& mes Skeâ ØeMve

keâjvee DeefveJeeÙe& nw~ meYeer ØeMveeW kesâ Debkeâ meceeve nQ~

Note : Attempt all the five questions. One question from each

unit is compulsory. All questions carry equal marks.

FkeâeF& - I / Unit - I

Q. 1. JÙeeJemeeefÙekeâ mecØes<eCe mes keäÙee DeeMeÙe nw ? Fmekesâ GösMÙe Je

cenlJe yeleeFÙes~

What do you mean by business communication ?

Explain the objectives and importance.
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DeLeJee / Or

ØeYeeJehetCe& mecØes<eCe mes Deehe keäÙee mecePeles nQ ? ØeYeeJehetCe& mecØes<eCe

kesâ efmeæebleeW keâes mecePeeFÙes~

What do you mean by effective communication ?

Describe the principles of effective communication.

FkeâeF& - II / Unit - II

Q. 2. DeewheÛeeefjkeâ SJeb DeveewheÛeeefjkeâ mecØes<eCe keâer JÙeeKÙee keâerefpeÙes~

Explain formal and informal communication.

DeLeJee / Or

mebef#ehle efšhheefCeÙeeB efueefKeÙes (keâesF& oes) :

(De) DeewheÛeeefjkeâ mecØes<eCe

(ye) mee#eelkeâej keâe cenlJe

(me) meccesueve

Write short notes on (any two) :

(a) Formal Communication

(b) Importance of Interview

(c) Conference
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FkeâeF& - III / Unit - III

Q. 3. mebef#ehle efšhheefCeÙeeB efueefKeÙes (keâesF& oes) :

(De) Øeefleketâue mebJeeo Jeeues he$e

(ye) meeKe SJeb efJe›eâÙe mebyebOeer he$e

(me) lekeâeos kesâ he$e

Write short notes on (any two) :

(a) Bad News Letters

(b) Sales and Status Enquiries Letters

(c) Dunning Letters

DeLeJee / Or

JÙeeJemeeefÙekeâ he$e mes keäÙee DeeMeÙe nw ? Fmekeâe cenlJe yeleeFÙes~

What do you mean by Business Letters ? Explain

the importance of Business Letters.

FkeâeF& - IV / Unit - IV

Q. 4. ceewefKekeâ ØemlegleerkeâjCe mes keäÙee DeeMeÙe nw ? Fmekesâ efmeæebleeW keâes

mhe° keâerefpeS~

What is oral presentation ? Classify the principles

of oral presentation.

DeLeJee / Or

efjheesš& mes Deehekeâe keäÙee DeeMeÙe nw ? JÙeeheeefjkeâ efjheesš& kesâ ØekeâejeW

keâe GuuesKe keâerefpeS~

What do you mean by Report ? Discuss the types

of Business Report.

FkeâeF& - V / Unit - V

Q. 5. mebef#ehle efšhheefCeÙeeB efueefKeÙes (keâesF& oes) :

(De) Meejerefjkeâ Yee<ee

(ye) Yee<ee Øeefle™he

(me) mebkesâle Yee<ee

Write short notes on (any two) :

(a) Body Language

(b) Para Language

(c) Sign Language

DeLeJee / Or

Hewâkeäme, F&cesue SJeb Jeeref[Ùees keâebøeWâefmebie keâer mecØes<eCe ceW Yetefcekeâe keâer

ÛeÛee& keâerefpeS~

Discuss the role of fax, e-mail and video

conferencing in communication.
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veesš : meYeer heeBÛe ØeMveeW kesâ Gòej oerefpeÙes~ ØelÙeskeâ FkeâeF& mes Skeâ ØeMve

keâjvee DeefveJeeÙe& nw~ meYeer ØeMveeW kesâ Debkeâ meceeve nQ~

Note : Attempt all the five questions. One question from

each unit is compulsory. All questions carry equal

marks.

FkeâeF&—I / UNIT-I

Q. 1. (De) Ùegiehele meceerkeâjCe mes Deehe keäÙee mecePeles nQ ? GvnW nue

keâjves keâer efJeefOeÙeeW kesâ veece yeleeFS~ 7

What do you understand by simultaneous

equations ? Mention the name of the method

of solving.

(ye) Gve oes mebKÙeeDeeW keâes %eele keâerefpeS efpevekeâe Ùeesie 64 leLee

Devlej 16 nw~ 8

Find the two numbers whose sum is 64 and

whose difference is 16.

DeLeJee OR

Skeâ efJe›esâlee yeuye efvecee&lee mes A leLee B Øekeâej kesâ yeuye

Kejerolee nw~ A keâe cetuÙe 8 ®. leLee B keâe cetuÙe 4 ®. Øeefle

veie nw~ yeuye Kejeroves kesâ efueS Gmekesâ heeme 200 ®. nw~ Ùeefo

efJe›esâlee A kesâ Øeefle veie hej 2 leLee B kesâ Øeefle veie hej 1 ®.

ueeYe keâceelee nes lees DeefOekeâlece ueeYe Øeehle keâjves kesâ efueS

efJe›esâlee Éeje ØelÙeskeâ yeuye kesâ efkeâleves veie Kejeroves ÛeeefnS~

jwefKekeâ keâeÙe&›eâce keâer Fme mecemÙee keâes ieefCeleerÙe met$eCe kesâ ™he

ceW efueefKeS~ «eeHeâerÙe efJeefOe mes Fmes nue keâerefpeS~ 15
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A seller purchase two types of bulbs A and B from

a bulb manufacturer. Bulb A costs Rs. 8 per unit

and B costs Rs. 4 per unit. He has Rs. 200 to

buy the bulbs. If the seller earns a profit of Rs. 2

per unit of A and Rs. 1 per unit of B, then how

many bulbs of each type, the seller should

purchase to get the maximum profit ? Write the

mathematical formulation of the linear

programming and solve this problem graphically.

FkeâeF&—II / UNIT-II

Q. 2. (De) 3A – 2B keâe ceeve %eele keâerefpeS Ùeefo : 7

1 6 2 2 9 6
A , B

4 3 5 4 5 3

    
        

Find the value of 3A – 2B if :

1 6 2 2 9 6
A , B

4 3 5 4 5 3

    
        

(ye) A Deewj B oes DeeJÙetneW keâe iegCeveHeâue AB %eele keâerefpeS

peneB : 8

 

1

2
A 1 2 3 4 ,B

3

4

 
 
  
 
 
 

Find the product AB where :

 

1

2
A 1 2 3 4 ,B

3

4

 
 
  
 
 
 

DeLeJee OR

(De) ueIegieCekeâ keâe DeLe& leLee heefjYee<ee oerefpeS~ 7

Write the meaning and definition of logarithm.

(ye) ueIegieCekeâ keâer meneÙelee mes x keâe ceeve %eele keâerefpeS : 8

1.5 1.2
x

0.036



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Find the value of x with the help of

logarithms :

1.5 1.2
x

0.036




FkeâeF&—III / UNIT-III

Q. 3. (De) efvecveefueefKele keâes mecePeeFÙes : 8

(i) meeOeejCe yÙeepe

(ii) efceßeOeve

Explain the following :

(i) Simple interest

(ii) Amount

(ye) meeOeejCe yÙeepe SJeb Ûe›eâJe=efæ yÙeepe ceW Devlej yeleeFÙes~ 7

Distinguish between simple and compound

interest.

DeLeJee OR

6,000 ®. hej 2 Je<eeX keâe Ûe›eâJe=efæ yÙeepe %eele keâerefpeS Ùeefo

yÙeepe DeOe&Jeeef<e&keâ osÙe nw leLee yÙeepe keâer oj ØeLece Je<e& kesâ efueS

9% SJeb efÉleerÙe Je<e& kesâ efueS 6% nw~ 15

Calculate the compound interest on Rs. 6,000 for

2 years if the interest is payable half yearly and

the rate of interest for the first year is 9% per

annum and that of the second year is 6% per

annum.

FkeâeF&—IV / UNIT-IV

Q. 4. (De) Deewmele keäÙee nw ? Fmekeâer GheÙeesefielee Je meerceeDeeW keâes

mecePeeFÙes~ 8

What is average ? Discuss its utility and

limitations.

(ye) A leLee B Skeâ meePesoejer Heâce& ceW meePesoej nQ pees ueeYe

neefve 3 : 2 kesâ Devegheele ceW yeeBšles nw~ Ùeefo Je<e& 2020

keâe ueeYe 6,00,000 ®. nes lees Fmes oesveeW meePesoejeW ceW

efJeYeeefpele keâerefpeS~ 7

A and B are a partners in a firm sharing profit

and loss in the ratio of 3 : 2. If the profit of

2020 is Rs. 6,00,000 distribute it between

them.
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DeLeJee OR

kesâ.Sme. keâe@uespe kesâ Úe$emebIe ÛegveeJe ceW DeOÙe#e heo nsleg oes

GcceeroJeej Les~ 20% Úe$eeW ves cele veneR [eues leLee 200 cele

DeJewOe Ieesef<ele efkeâS ieÙes~ Ùeefo efJepeÙeer GcceeroJeej kegâue celeeW keâe

50% heekeâj 700 celeeW mes peerlee nes lees ØelÙeskeâ ØelÙeeMeer keâes

efceues cele yeleeFS~ 15

There were two candidates for the presidentship

in a student's union election of K.S. College. 20%

students did not cast their vote and 200 votes

were declared invalid. If the winning candidate

secures 50% of the total votes and win by 700

votes, find the votes polled to each of them.

FkeâeF&—V / UNIT-V

Q. 5. (De) yešdšs keâes heefjYeeef<ele keâerefpeS leLee Gmekesâ Øekeâej yeleeFÙes~ 7

Define discount and explain their types.

(ye) Skeâ DeefYekeâlee& keâes 6% meeceevÙe leLee 2% DeeMJeemeer

keâceerMeve efoÙee peelee nw~ vekeâo Je GOeej efye›eâer ›eâceMe:

4,500 ®. leLee 7,600 ®. Leer~ Gmes kegâue efkeâlevee

keâceerMeve Øeehle nesiee~ 8

An agent is given 6% general and 2% del-

credere commission. This cash and credit

sales were Rs. 4,500 and Rs. 7,600

respectively. How much commission will

he get ?

DeLeJee OR

Skeâ efJe›esâlee ves Skeâ IeesÌ[e Deewj ieeÌ[er Kejeroer~ oesveeW keâes 1,940

®. ceW yesÛe efoÙee~ Fme JÙeJenej ceW Gmes IeesÌ[s hej 10% leLee

ieeÌ[er hej 20% ueeYe ngDee~ Ùeefo Jen IeesÌ[s keâes 20% Deewj ieeÌ[er

keâes 10% ueeYe hej yesÛelee nw lees Gmes 1,970 ®. efceueles nQ~

oesveeW kesâ he=Lekeâ-he=Lekeâ ›eâÙe cetuÙe yeleeFÙes~ 15

A seller bought a horse and a cart. He sold both

for Rs. 1,940. In this transaction he got 10% profit

on the horse and 20% on the cart. If he sells the

horse at the profit of 20% and the cart at 10% he

will get the profit of Rs. 1,970. Find the purchase

price of the horse and cart.
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